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p1        1.828e-04± -7.957e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)
 / ndf 2χ  55.26 / 25

p0        0.0±  3910 

p1        0.0001791± -0.0003736 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6) / ndf 
2χ  29.84 / 25

p0        0.0±  3909 

p1        1.65e-04± -3.57e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ  34.18 / 25

p0        0.0±  3912 

p1        0.0001789± -0.0001312 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)
 / ndf 2χ  29.81 / 25

p0        0.0±  3904 

p1        0.0001846± -0.0003421 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  25.99 / 25

p0        0.0±  3910 

p1        0.0001903± -0.0003295 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)
 / ndf 2χ   45.7 / 25

p0        0.0±  3910 

p1        0.0001873± -0.0008077 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)
 / ndf 2χ   30.6 / 25

p0        0.0±  3915 

p1        0.0001843± -0.0004542 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  33.12 / 25

p0        0.0±  3894 

p1        0.0001772± -0.0004664 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)
 / ndf 2χ  40.44 / 25

p0        0.0±  3894 

p1        0.0001744± -0.0004571 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)
 / ndf 2χ  49.56 / 25

p0        0.0±  3898 

p1        0.0001744± -0.0002868 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 
2χ  28.19 / 25

p0        0.0±  3897 

p1        1.99e-04± -4.94e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

3917

3918

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ  36.93 / 25

p0        0.0±  3919 

p1        0.0001945± 0.0005039 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)
 / ndf 2χ  44.48 / 25

p0        0.0±  3912 

p1        0.0001888± 0.0005721 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  33.59 / 25

p0        0.0±  3914 

p1        0.0001862± 0.0003857 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ   37.6 / 25

p0        0.0±  3915 

p1        0.0001957± 0.0006179 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)
 / ndf 2χ  30.45 / 25

p0        0.0±  3909 

p1        1.957e-04± 8.733e-07 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

3901

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  35.62 / 25

p0        0.0±  3904 

p1        0.0001879± 0.0004027 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  21.23 / 25

p0        0.0±  3930 

p1        2.353e-04± -9.734e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  39.45 / 25

p0        0.0±  3918 

p1        0.0001817± 0.0002073 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  18.28 / 25

p0        0.0±  3923 

p1        0.0001822± 0.0005809 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  33.84 / 25

p0        0.0±  3915 

p1        0.0001847± 0.0005919 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  28.67 / 25

p0        0.0±  3913 

p1        1.927e-04± 6.054e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ   41.6 / 25

p0        0.0±  3924 

p1        0.0001804± 0.0006047 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  24.81 / 25

p0        0.0±  3933 

p1        0.0002185± -0.0001582 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ   27.1 / 25

p0        0.0±  3927 

p1        1.689e-04± -4.905e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  20.32 / 25

p0        0.0±  3927 

p1        0.0001948± -0.0006353 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  30.33 / 25

p0        0.0±  3931 

p1        0.0001762± -0.0002357 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ   24.9 / 25

p0        0.0±  3917 

p1        1.988e-04± -8.282e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

3910

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  32.06 / 25

p0        0.0±  3915 

p1        0.0001979± -0.0001948 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2) / ndf 
2χ  35.49 / 25

p0        0.0±  3928 

p1        0.000181± 0.000257 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3) / ndf 
2χ  16.67 / 25

p0        0.0±  3923 

p1        1.96e-04± 5.36e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)
 / ndf 2χ  34.11 / 25

p0        0.0±  3925 

p1        0.000200± -0.000174 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ  27.21 / 25

p0        0.0±  3930 

p1        0.0001934± -0.0004224 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  47.21 / 25

p0        0.0±  3926 

p1        0.0002027± -0.0003019 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7) / ndf 
2χ  38.38 / 25

p0        0.0±  3918 

p1        1.89e-04± -8.16e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ  31.38 / 25

p0        0.0±  3942 

p1        0.0002020± -0.0007053 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)
 / ndf 2χ  57.35 / 25

p0        0.0±  3941 

p1        0.0002045± -0.0002391 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)
 / ndf 2χ  29.31 / 25

p0        0.0±  3941 

p1        0.0001968± -0.0004181 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)
 / ndf 2χ  35.56 / 25

p0        0.0±  3935 

p1        0.0001958± -0.0002558 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  36.91 / 25

p0        0.0±  3929 

p1        1.979e-04± -8.595e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13) / ndf 
2χ   30.2 / 25

p0        0.0±  3938 

p1        0.000184± -0.000101 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)
 / ndf 2χ  32.71 / 25

p0        0.0±  3935 

p1        0.0001897± -0.0006042 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  29.17 / 25

p0        0.0±  3927 

p1        0.0001846± -0.0003382 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  33.98 / 25

p0        0.0±  3914 

p1        0.0002022± 0.0002267 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

3912
TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

 / ndf 2χ  32.27 / 25

p0        0.0±  3912 

p1        0.0001836± 0.0001615 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)
 / ndf 2χ  34.42 / 25

p0        0.0±  3917 

p1        1.854e-04± 3.996e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)
 / ndf 2χ  28.77 / 25

p0        0.0±  3922 

p1        0.0001838± 0.0005487 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  38.04 / 25

p0        0.0±  3910 

p1        0.0001915± -0.0001417 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

3899

3900

3901

3902

3903

3904

3905

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  25.83 / 25

p0        0.0±  3906 

p1        0.0001878± -0.0004414 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  29.53 / 25

p0        0.0±  3916 

p1        0.0001805± -0.0001509 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

3907

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  31.42 / 25

p0        0.0±  3907 

p1        0.0001790± -0.0003878 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8) / ndf 
2χ  34.97 / 25

p0        0.0±  3937 

p1        0.00019± -0.00054 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  48.43 / 25

p0        0.0±  3935 

p1        0.0001759± -0.0004913 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  31.46 / 25

p0        0.0±  3937 

p1        0.0001841± -0.0006717 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  31.37 / 25

p0        0.0±  3932 

p1        0.0001958± -0.0007789 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
 / ndf 2χ  34.82 / 25

p0        0.0±  3935 

p1        0.0001893± -0.0003274 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
 / ndf 2χ   49.4 / 25

p0        0.0±  3934 

p1        0.0001771± -0.0009326 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  36.13 / 25

p0        0.0±  3939 

p1        0.0001886± -0.0002116 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
 / ndf 2χ  29.31 / 25

p0        0.0±  3938 

p1        0.0001916± -0.0003292 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ  43.42 / 25

p0        0.0±  3920 

p1        0.0001926± -0.0002756 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

3921

3922

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1) / ndf 
2χ     29 / 25

p0        0.0±  3923 

p1        0.000195± 0.000296 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)
 / ndf 2χ  62.62 / 25

p0        0.0±  3931 

p1        0.0001839± 0.0003414 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3) / ndf 
2χ  23.06 / 25

p0        0.0±  3926 

p1        0.000190± 0.000591 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ   26.9 / 25

p0        0.0±  3914 

p1        1.930e-04± 9.536e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  26.56 / 25

p0        0.0±  3913 

p1        0.0001798± -0.0003479 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  35.63 / 25

p0        0.0±  3912 

p1        0.0001848± -0.0004304 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7) / ndf 
2χ  23.18 / 25

p0        0.0±  3911 

p1        0.000186± -0.000363 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
 / ndf 2χ  29.97 / 25

p0        0.0±  3925 

p1        0.0001994± -0.0005421 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ  41.19 / 25

p0        0.0±  3916 

p1        0.0001792± -0.0004727 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
 / ndf 2χ  32.91 / 25

p0        0.0±  3915 

p1        0.0001790± -0.0002609 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)
 / ndf 2χ  35.51 / 25

p0        0.0±  3922 

p1        0.0001771± -0.0002204 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)
 / ndf 2χ  37.23 / 25

p0        0.0±  3928 

p1        0.0001885± 0.0003266 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) / ndf 
2χ  29.09 / 25

p0        0.0±  3928 

p1        0.000208± 0.000181 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  49.38 / 25

p0        0.0±  3917 

p1        0.0001711± 0.0003647 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  18.15 / 25

p0        0.0±  3925 

p1        0.0001742± 0.0002992 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  23.62 / 25

p0        0.0±  3941 

p1        0.000206± 0.000243 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

3943

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  38.18 / 25

p0        0.0±  3943 

p1        0.0001762± 0.0001949 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
2χ   22.9 / 25

p0        0.0±  3938 

p1        0.00018± 0.00018 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  27.69 / 25

p0        0.0±  3941 

p1        1.883e-04± 5.152e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)
 / ndf 2χ  42.87 / 25

p0        0.0±  3928 

p1        0.0001974± -0.0003285 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  32.44 / 25

p0        0.0±  3927 

p1        0.0001992± -0.0003411 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)
 / ndf 2χ  57.16 / 25

p0        0.0±  3930 

p1        0.0001859± -0.0005136 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7) / ndf 
2χ  37.09 / 25

p0        0.0±  3941 

p1        0.000194± -0.000547 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
 / ndf 2χ  37.46 / 25

p0        0.0±  3934 

p1        1.884e-04± -2.213e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  32.13 / 25

p0        0.0±  3929 

p1        0.0001814± -0.0002611 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  25.19 / 25

p0        0.0±  3925 

p1        0.0001769± -0.0006278 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  31.55 / 25

p0        0.0±  3925 

p1        0.0001811± -0.0002332 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ  27.73 / 25

p0        0.0±  3951 

p1        0.0001976± -0.0003009 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13) / ndf 
2χ  48.15 / 25

p0        0.0±  3954 

p1        0.000187± -0.000556 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  37.29 / 25

p0        0.0±  3952 

p1        0.0002013± -0.0003352 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ   33.1 / 25

p0        0.0±  3957 

p1        0.0001906± -0.0003276 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ  37.49 / 25

p0        0.0±  3913 

p1        0.000187± -0.000172 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  45.33 / 25

p0        0.0±  3911 

p1        0.0001840± -0.0004568 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ  25.48 / 25

p0        0.0±  3922 

p1        0.0001923± -0.0003419 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ  34.94 / 25

p0        0.0±  3916 

p1        0.0001870± -0.0001932 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)
 / ndf 2χ  49.56 / 25

p0        0.0±  3915 

p1        0.0001791± -0.0004433 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ  30.64 / 25

p0        0.0±  3907 

p1        0.0001859± -0.0006204 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3903

3904

3905

3906

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  32.72 / 25

p0        0.0±  3910 

p1        0.0001828± -0.0006024 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
 / ndf 2χ  32.71 / 25

p0        0.0±  3911 

p1        0.0001862± -0.0007834 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  56.79 / 25

p0        0.0±  3910 

p1        0.0001796± -0.0008128 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  26.72 / 25

p0        0.0±  3908 

p1        0.0001807± -0.0005985 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) / ndf 
2χ  37.74 / 25

p0        0.0±  3911 

p1        0.000180± -0.001146 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
 / ndf 2χ  49.81 / 25

p0        0.0±  3914 

p1        0.0001811± -0.0008497 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ  17.56 / 25

p0        0.0±  3897 

p1        0.0001855± -0.0003874 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ   61.6 / 25

p0        0.0±  3900 

p1        0.0001746± -0.0007152 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  16.75 / 25

p0        0.0±  3902 

p1        0.0001769± -0.0005507 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ  29.69 / 25

p0        0.0±  3909 

p1        0.0001785± -0.0004169 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

3947

3948

3949

3950

3951

3952

3953

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 
2χ   24.2 / 25

p0        0.0±  3953 

p1        0.000196± -0.000361 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ   18.1 / 25

p0        0.0±  3946 

p1        0.0002015± -0.0003277 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

3948

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  37.94 / 25

p0        0.0±  3948 

p1        0.0001731± -0.0005845 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

3949

3950

3951

3952

3953

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  59.08 / 25

p0        0.0±  3954 

p1        0.0001814± -0.0005633 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)
 / ndf 2χ  11.67 / 25

p0        0.0±  3928 

p1        0.0002109± -0.0001498 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 
2χ  33.96 / 25

p0        0.0±  3938 

p1        0.000192± -0.000387 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

3935

3936

3937

3938

3939

3940

3941

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)
 / ndf 2χ  21.79 / 25

p0        0.0±  3942 

p1        0.000189± -0.000695 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)
 / ndf 2χ  25.83 / 25

p0        0.0±  3940 

p1        0.0001991± -0.0006578 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ     25 / 25

p0        0.0±  3932 

p1        1.866e-04± -5.639e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 
2χ     39 / 25

p0        0.0±  3935 

p1        1.93e-04± -1.15e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ  27.52 / 25

p0        0.0±  3936 

p1        0.0002060± -0.0001889 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
 / ndf 2χ  28.87 / 25

p0        0.0±  3933 

p1        0.0001773± -0.0001402 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
 / ndf 2χ  23.37 / 25

p0        0.0±  3934 

p1        1.813e-04± -8.452e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)
 / ndf 2χ  50.15 / 25

p0        0.0±  3932 

p1        0.0001867± -0.0003781 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) / ndf 
2χ   26.9 / 25

p0        0.0±  3928 

p1        1.94e-04± 1.21e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)
 / ndf 2χ  54.04 / 25

p0        0.0±  3937 

p1        0.0001851± -0.0004162 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)
 / ndf 2χ  17.53 / 25

p0        0.0±  3900 

p1        0.0001854± -0.0003834 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
 / ndf 2χ  36.81 / 25

p0        0.0±  3916 

p1        1.848e-04± -1.478e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
 / ndf 2χ  40.64 / 25

p0        0.0±  3905 

p1        0.0001722± -0.0001075 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3) / ndf 
2χ  29.28 / 25

p0        0.0±  3911 

p1        0.000176± -0.000326 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ  35.85 / 25

p0        0.0±  3927 

p1        0.0001957± -0.0002426 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)
 / ndf 2χ  24.71 / 25

p0        0.0±  3925 

p1        0.0001745± -0.0004444 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)
 / ndf 2χ  37.51 / 25

p0        0.0±  3931 

p1        1.735e-04± -1.197e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ  28.02 / 25

p0        0.0±  3932 

p1        0.0001811± -0.0003875 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

3914

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
 / ndf 2χ   42.2 / 25

p0        0.0±  3916 

p1        0.0001782± 0.0002355 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
 / ndf 2χ  20.57 / 25

p0        0.0±  3917 

p1        0.0001776± 0.0001848 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)
 / ndf 2χ  23.46 / 25

p0        0.0±  3916 

p1        0.0001875± -0.0002421 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
 / ndf 2χ  30.32 / 25

p0        0.0±  3920 

p1        0.0001872± 0.0002942 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)
 / ndf 2χ  33.16 / 25

p0        0.0±  3924 

p1        0.0001884± -0.0001259 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)
 / ndf 2χ  28.91 / 25

p0        0.0±  3937 

p1        0.0001822± -0.0002908 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)
 / ndf 2χ   30.4 / 25

p0        0.0±  3937 

p1        0.0001784± -0.0002141 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)
 / ndf 2χ   31.6 / 25

p0        0.0±  3926 

p1        0.0001916± -0.0003914 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  31.87 / 25

p0        0.0±  3924 

p1        0.0002049± -0.0005904 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ  26.01 / 25

p0        0.0±  3932 

p1        0.0001918± -0.0004558 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ  25.99 / 25

p0        0.0±  3930 

p1        0.0001820± -0.0005517 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ   18.8 / 25

p0        0.0±  3926 

p1        0.0001853± -0.0002865 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3948

3949

3950

3951

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)
 / ndf 2χ  49.14 / 25

p0        0.0±  3953 

p1        0.0001983± -0.0001035 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  32.93 / 25

p0        0.0±  3944 

p1        0.0002021± -0.0006213 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) / ndf 
2χ  19.66 / 25

p0        0.0±  3951 

p1        1.73e-04± -6.03e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

3950

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
 / ndf 2χ  33.75 / 25

p0        0.0±  3950 

p1        0.0001790± -0.0003685 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8) / ndf 
2χ  34.27 / 25

p0        0.0±  3926 

p1        0.000192± -0.000661 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)
 / ndf 2χ  38.03 / 25

p0        0.0±  3932 

p1        0.0001779± -0.0008988 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  27.13 / 25

p0        0.0±  3933 

p1        0.0001857± -0.0008091 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)
 / ndf 2χ  47.33 / 25

p0        0.0±  3927 

p1        0.0001845± -0.0006531 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)
 / ndf 2χ  34.18 / 25

p0        0.0±  3933 

p1        0.0001961± -0.0005274 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
 / ndf 2χ  18.22 / 25

p0        0.0±  3926 

p1        0.0001831± -0.0006762 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)
 / ndf 2χ  17.78 / 25

p0        0.0±  3929 

p1        0.0001936± -0.0004207 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)



TP delay [ns]
0 20 40 60 80 100

3966

3967

3968

3969

3970

3971

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)
 / ndf 2χ  28.43 / 25

p0        0.0±  3971 

p1        0.0001954± 0.0001192 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
 / ndf 2χ  38.05 / 25

p0        0.0±  3973 

p1        0.0001804± 0.0005052 
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 / ndf 2χ  28.77 / 25

p0        0.0±  3918 

p1        0.0001877± 0.0003908 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)
 / ndf 2χ  20.26 / 25

p0        0.0±  3928 

p1        0.0001870± -0.0001937 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)



TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) / ndf 2χ  2.576e+09 / 25

p0        0.0±  4086 

p1        0.000± -4.672 

C = 214.05 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,0)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) / ndf 2χ  2.722e+09 / 25

p0        0.0±  4106 

p1        0.000± -5.259 

C = 190.15 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(6,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,11,0)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(6,11,1) / ndf 2χ  2.431e+09 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(6,11,4)

TP delay [ns]
0 20 40 60 80 100

0

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(6,11,5) / ndf 2χ  2.591e+09 / 25

p0        0.0±  4065 

p1        0.000± -4.301 

C = 232.48 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(6,11,15)
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